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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2800
2600 -
2400
2200 -
2000 -

1800 ~

1600 Warning: col ["ECC, "FVIEC'] is missing
1400 -

0 10 20 30 40 50 60 70



Plot [['FVOEC:r-o’, 'ECO:g—o’]]

—@— ECO
5000 A
4000 +
3000 A
2000 - - - —
Warning: col ['FVOEC'] is missing
0 10 20 30 40 50 60 70
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Trend plot forP3-10_0
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P3-10
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ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE
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15:10 283 150.0 2.888 |Z=| 1BRige15:10 Bzh (KAEESE)
2411 1698.0 (6:%) 900. 0 EUGHKEC: 2130, PH: 5.7

TERRHER 2 STEELRTF (184.0 :

ZRIALBRIERE153.0 ml.

153.0), AlEEHT—@ % XA HS
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P3-10

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:05 283 150. 0 2.888 S| {Ri&e07:05 Bal (REAERHSE)
07:45 283 150.0 2.888 BE| {Ri&e07:45 B (REAEHE)
08:50 283 150.0 2. 888 RS {Ri%e08:50 Bz (REAERESE)
09:35 283 150.0 2.888 BE| {Ri8&e09:35 Bl (REAEESE)
10:20 283 150.0 2.888 S| Ri%@10:20 Bz (REEESE)
11:00 283 150.0 2. 888 el Rige11:00 Bz (REAERSE)
11:35 283 150.0 2.888 el Rige11:35 Bal (REERESE)
12:05 283 150.0 2.888 el Rige12:05 Bzl (REAEHSE)
12:40 283 150.0 2. 888 B Rige12:40 Bz (REAERE)
13:15 283 150.0 2. 888 | Rige13:15 Bal (REAEESE)
13:50 283 150.0 2.888 B 1Rige13:50 Bah (REAEESE)
14:25 283 150.0 2.888 BS| 1Ri%e14:25 Bz CGREMEESE)
15:00 283 150.0 2.888 RSl Ri%@15:00 Bz (REERESR)
15:40 283 150.0 2.888 BE| Rige15:40 Ba (REAEHSE)
16:25 283 150.0 2.888 BS| 1Ri%e16:25 Bz (GREMEESE)
17:25 283 150.0 2. 888 BE| Ri%e17:25 B (RF{EREE)
23t 4528.0 (16)%) 2400. 0 3233 %EC: 2060, PH: 5.8

MEREHLER 2 5 MEIELRTT (184.0 :
ZRIALBRIERE153.0 ml.
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HEERECE (1847.0 vs 3877.0) 5
FREVRIN S K IKEC 2057. 0

153.0), AlEEHT—@ % XA HS
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P3-10_0, Day=70 (2025-06-11)
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